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If Russia were to use nuclear weapons,
91.5 million people would be killed
and injured in a matter of hours.
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According to a video titled “PLAN A” and released by a research team
at Princeton University in 2019, it is believed that if Russia were to use
a single nuclear weapon due to the threat of NATO, nuclear war would
break out with the Unite States, and in a matter of hours 91.5 million
people would be injured and killed. The yield of nuclear weapon s
currently deployed by both countries ranges from several times to tens
of times larger than that of those used in Hiroshima and Nagasa ki. It is
also suspected that Russia began to deploy nuclear torpedoes up on the
invasion of Ukraine, whose yield could be 100 times larger than that of
the type of bomb used in Hiroshima and Nagasaki.
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